
Comments on Volume 6 Environmental Statement 6.2.5 Air Quality submited 
at Deadline 7. 

With reference to Appendix A, pages 97 to 107 of the report, particularly Figures 4 to 
8 on pages 102 to 106. Can the applicant explain why both Amcotts and Flixborough 
villages’ names have been omitted from the pollution map when these two receptors 
are going to be impacted by the N20, NOx and PM10 the most, apart from the order 
limits? Is the applicant trying to make the public believe there are no nearby villages 
that will be affected by the pollution that the proposed development will emit? I find it 
hard to understand why the villages that are going to be impacted less by the 
pollutants have been included and the ones which will feel the impact the most have 
been omitted.  
 
Also, the map British National Grid uses for planning purposes clearly identify the 
villages of Amcotts and Flixborough so why do the maps that the applicant has used 
in appendix A not align with this when it apparently comes from the same source? 
 
The figure below is a screen shot of the British National grid map. Source:  

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 



The figure below is the applicants map from Appendix A figure 4. Why is this map so 
different to the National Grids even though it is from the British National Grids map?  

 
 
 
Why in Appendix A do Figures 1a,1b, 4,5,6,7 and 8 only identify 4 human receptors, 
none of which are the villages directly impacted by the project. Some human 
receptors identified are further away from the order limits than the villages of Amcotts 
and Flixborough. 
 
 




